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1 NEFHEEIEY—EXEESE (B4 M)
SH2EE SHREE
X 2 i B)—(A) | B (A
7 A) B)
1) FREY—EX
o |IEEY—ER(H7EL) 13,004 0 A 13,004 0.0%
é SRR —ERCEBE (EE%)) 169,400,195 167,003,291 A 2,396,904 98.6%
i SRS —E RGBS ER(H—ERA)) 20,423,982 17,193,024 A 3,230,958 84.2%
&t 189,837,181 184,196,315 A 5,640,866 97.0%
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é B —EXEB (EE%#)) 276,264,482 311,719,787 35,455,305 112.8%
i BRI —E R B ER(H—ERA)) 169,841 169,803 A 38 100.0%
&t 276,434,323 311,889,590 35,455,267 112.8%
B ((1)+(2)) 466,271,504 496,085,905 29,814,401 106.4%
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SH2EE SHI3EE
X ) T (B)— (A) (B) ./ (A)
7 (A) (B)
NEFTHT T IR AVE 52,404,739 54,175,147 1,770,408 103.4%
A&t 52,404,739 54,175,147 1,770,408 103.4%
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SH2EE SH3EE
X 4 T B)— (A B). (A
X %) (A) (B) (B)—(A) (B).~ (A)
BRI —EXRE 1,134,056 6,349,596 5,215,540 559.9%
SRS —ERE 77,000 132,000 55,000 171.4%
&t 1,211,056 6,481,596 5,270,540 535.2%
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SH2FE SH3EE
X 4 T B)— (A B). (A
X %) (A) (B) (B)—(A) (B).~ (A)
EEENEY—CERAERLEE 1,648,235 1,640,806 A 7,429 99.5%
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SH2EE SH3EE
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X %) (A) (B) (B)— (A) (B).~ (A)
BEZILFEHH 1,032,864 1,071,600 38,736 103.8%
NEFHT T IR AVNEE I FHH 532,800 539,952 7,152 101.3%
=Xl 1,565,664 1,611,552 45,888 102.9%




